2 Single Chairs
(+ R19T-H6)

] |
= E/ = Ej/éﬂ

a. WHEN YOU OPEN THE BOX AND FIND THIS INSTRUCTION, PLEASE CHECK FIRST IF THE
BOXES YOU HAVE RECEIVED INCLUDE THE UNIVERSAL PARTS BOX CALLED R19T-H6, WHICH
TOGETHER MAKE UP THE COMPLETE SET OF PARTS FOR THE ASSEMBLY OF THE 2 ARMREST
CHAIRS SHOWN ABOVE. ANY DEFECTS OR MISSING, PLEASE GET IN TOUCH WITH US IN TIME!
b. Advisable to assemble on the mat to avoid wear and tear. Avoid all sharp objects touching the product
surface. Do not allow the children to play around.

c. Do not tighten all screws entirely until assembly is completed. Power tools are available, don't
over-tighten for strip threads. Any problems assembling, first refer to the instruction or inform us with the
photo asap! Also, assembly video is available.

d.If the cushion covers crease, maybe you can try soaking with warm water or ironing!



THE PARTS WHOSE NAME IS IN THE BLOCK COME WHOLE OR PARTIAL FROM THE UNIVERSAL
PARTS BOX NAMED R19T-H6. IF THE PARTIAL PARTS ARE FROM THE UNIVERSAL PARTS BOX,
THE NUMBER OF PARTS PACKAGED IN THE UNIVERSAL PARTS BOX IS THE SECOND NUMBER

IN BRACKETS.

A: right sofa arm
2 pcs(1+1)

B: left sofa arm
2 pcs(1+1)

C:

sofa back
2 pcs

ﬁ.\

2 pcs

e
D: sofa seat board

E:

sofa front screen
2 pcs

R: screw M6%35mm S: shim g16x6.4x1 T: nut M6 V: screw M6x60mm
8 pcs 4 pcs 68 pcs 32 pcs 32 pcs

X: screw Mox45mm
16 pcs

Y:

shim @11x6.2x1
16 pcs

Z: adjustable screw

oo
=]

(@]

(%]

1 pcs

Inner hexagon spanner

open spanner
1 pcs

@I'»72h5;7

Unpacking

seat cushion insert
2 pcs

Yy

furniture cover
2 pcs(1 pcs/bag)

back cushion insert
2 pcs

seat cushion cover

4 pcs(2+2)




Step 1

Dx?2, Ex?2

SHIN)

R: screw M6x35mm
4 pcs

S: shim

016%6.4%1 4 pcs

2X

Step 2

Cx 2

S: shim

016%6.4x1 8 pcs

SO

T: nut M6 V: screw M6x60mm

4 pcs

4 pcs

C

2X




S: shim
g16x6.4%1 28 pcs

© T

T: nut M6
14 pcs

V: screw M6x60mm
14 pcs

E

= N

S t ep 4 SN
S: shim T: nut M6 Vi screw Mox60mm
216%6.4%1 28 pcs 14 pcs 14 pcs
B x 2




@ © T g

F: sofa foot X: screw Mox45mm Y: shim Z: adjustable
8 pcs 16 pcs 011%6.2%1 16 pcs screw 8 pcs

2X




Guide for Cushion Installation










	R191-1
	图纸和视图
	模型


	R191-2
	图纸和视图
	模型


	R191-3
	图纸和视图
	模型


	R191-4
	图纸和视图
	模型


	R191-5
	图纸和视图
	模型


	R191-6
	图纸和视图
	模型


	R191-7
	图纸和视图
	模型


	R191-8
	图纸和视图
	模型





